## A Darboux transformation and an exact solution for the relativistic Toda lattice equation

This article has been downloaded from IOPscience. Please scroll down to see the full text article. 2005 J. Phys. A: Math. Gen. 387735
(http://iopscience.iop.org/0305-4470/38/35/007)
View the table of contents for this issue, or go to the journal homepage for more

Download details:
IP Address: 171.66.16.94
The article was downloaded on 03/06/2010 at 03:56

Please note that terms and conditions apply.

# A Darboux transformation and an exact solution for the relativistic Toda lattice equation 

Ruguang Zhou and Qiaoyun Jiang<br>Department of Mathematics, Xuzhou Normal University, Xuzhou, 221116, People's Republic of China<br>E-mail: rgzhou@public.xz.js.cn

Received 25 May 2005, in final form 19 July 2005
Published 16 August 2005
Online at stacks.iop.org/JPhysA/38/7735


#### Abstract

A Darboux transformation for the relativistic Toda lattice hierarchy is constructed. As an application, an exact solution of the relativistic Toda lattice equation is presented.


PACS numbers: $02.90 .+\mathrm{p}, 03.40 .-\mathrm{t}$
Mathematics Subject Classification: 81Q10, 35P20

## 1. Introduction

The aim of this paper is to establish a Darboux transformation for the relativistic Toda lattice (RTL) equation

$$
\begin{align*}
& \ddot{q}_{n}=\left(1+h \dot{q}_{n-1}\right)\left(1+h \dot{q}_{n}\right) \frac{\exp \left(q_{n-1}-q_{n}\right)}{1+h^{2} \exp \left(q_{n-1}-q_{n}\right)} \\
&-\left(1+h \dot{q}_{n}\right)\left(1+h \dot{q}_{n+1}\right) \frac{\exp \left(q_{n}-q_{n+1}\right)}{1+h^{2} \exp \left(q_{n}-q_{n+1}\right)}, \tag{1}
\end{align*}
$$

where $h=\frac{1}{c}, c$ is the speed of light, $q_{n}=q(n)$ is the coordinate of the $n$th lattice point, and $\dot{q}_{n}$ means the differentiation of $q_{n}$ with respect to time $t$. The RTL equation was first introduced by Ruijsenaars [1] and has been studied by many authors. Bruschi and Ragnisco constructed its Lax representation, recursion operator and Bäcklund transformation [2-4]. Oevel, Fuchssteiner, Zhang and Ragnisco presented its master symmetry and bi-Hamiltonian structure [5]. Suris found its relation to the discrete time Toda lattice [6, 7]. Ohta, Kajiwara, Matusukidara and Satsuma obtained its Casorati determinant solution [8].

The RTL equation (1) can be written as

$$
\left\{\begin{array}{l}
\dot{p}_{n}=\exp \left(q_{n-1}-q_{n}+h p_{n-1}\right)-\exp \left(q_{n}-q_{n+1}+h p_{n}\right), \\
1+h \dot{q}_{n}=\exp \left(h p_{n}\right)\left(1+h^{2} \exp \left(q_{n}-q_{n+1}\right)\right) .
\end{array}\right.
$$

Furthermore, in terms of the new variables $r_{n}$ and $s_{n}$ defined by

$$
s_{n}=\frac{\exp \left(h p_{n+1}\right)-1}{h}, \quad r_{n}=\exp \left(q_{n}-q_{n+1}+h p_{n}\right)
$$

the RTL equation (1) takes the form

$$
\begin{equation*}
\dot{r}_{n}=r_{n}\left(s_{n-1}-s_{n}+h r_{n-1}-h r_{n+1}\right), \quad \dot{s}_{n}=\left(1+h s_{n}\right)\left(r_{n}-r_{n+1}\right) \tag{2}
\end{equation*}
$$

It is apparent that if $h=0$ equation (2) becomes the well-known Toda lattice equation $[9,10]$. Consequently, the RTL equation is a deformation of the Toda lattice equation [11].

## 2. New zero-curvature representations of the hierarchy of the RTL equations

Let $f=f(n)$ be a lattice function. Following [12] we specify the shift operator $E$ and the inverse $E^{-1}$ of $E$ as

$$
(E f)(n)=f(n+1), \quad\left(E^{-1} f(n)=f_{n+1}, \quad n \in \mathbb{Z},\right.
$$

and below we always write

$$
f^{(k)}=E^{k} f, \quad k \in \mathbb{Z}
$$

Consider the discrete spatial spectral problem

$$
E \phi=U \phi, \quad U=\left(\begin{array}{cc}
0 & 1  \tag{3}\\
(h \lambda-1) r & \lambda+s
\end{array}\right), \quad \phi=\binom{\phi_{1}}{\phi_{2}},
$$

where $\lambda$ is a spectral parameter and $r=r(n), s=s(n)$ are two potentials.
Following [12], we choose the auxiliary spectral problem
$\phi_{t_{m}}=V^{[m]} \phi, \quad V^{[m]}=\sum_{i=0}^{m}\left(\begin{array}{cc}a_{i} & b_{i} \\ (h \lambda-1) c_{i} & -a_{i}\end{array}\right) \lambda^{m-i}+\left(\begin{array}{cc}b_{m+1} & 0 \\ 0 & 0\end{array}\right), \quad m \geqslant 1$,
where $a_{i}, b_{i}, c_{i}$ are uniquely determined by the following initial condition and recursion relation:

$$
\begin{align*}
& a_{0}=-\frac{1}{2}, \quad b_{0}=0, \quad c_{0}=0  \tag{5}\\
& c_{k+1}-r b_{k+1}^{(1)}=0, \quad k \geqslant 0,  \tag{6}\\
& b_{k+1}^{(1)}+s b_{k}^{(1)}+\left(a_{k}^{(1)}+a_{k}\right)=0,  \tag{7}\\
& \left(a_{k+1}^{(1)}-a_{k+1}\right)+s\left(a_{k}^{(1)}-a_{k}\right)+h\left(r b_{k+1}-c_{k+1}^{(1)}\right)-\left(r b_{k}-c_{k}^{(1)}\right)=0 . \tag{8}
\end{align*}
$$

In particular, we have

$$
\begin{align*}
& a_{1}=h r, b_{1}=1, c_{1}=r, \\
& a_{2}=-h^{2} r^{(1)} r-h^{2} r^{2}-h^{2} r r^{(-1)}-h r s-h r s^{(-1)}-r,  \tag{9}\\
& b_{2}=-h r-h r^{(-1)}-s^{(-1)}, c_{2}=-r s-h r^{2}-h r r^{(1)} .
\end{align*}
$$

It is not difficult to find that the compatible condition of equations (3) and (4),

$$
(E \phi)_{t_{m}}=E \phi_{t_{m}}, \quad m \geqslant 1,
$$

is equivalent to the discrete zero-curvature equation

$$
\begin{equation*}
U_{t_{m}}=\left(E V^{[m]}\right) U-U V^{[m]}, \quad m \geqslant 1, \tag{10}
\end{equation*}
$$

which immediately gives rise to the hierarchy of equations

$$
\left\{\begin{array}{l}
r_{t_{m}}=c_{m+1}-r b_{m+1},  \tag{11}\\
s_{t_{m}}=-c_{m}^{(1)}+r b_{m}-s\left(a_{m}^{(1)}-a_{m}\right), \quad m \geqslant 1 .
\end{array}\right.
$$

When $m=1$ (set $t_{1}=t$ ), the auxiliary spectral problem (4) is

$$
\phi_{t}=V^{[1]} \phi, \quad V^{[1]}=\left(\begin{array}{cc}
-\frac{1}{2} \lambda-h r^{(-1)}-s^{(-1)} & 1  \tag{12}\\
(h \lambda-1) r & \frac{1}{2} \lambda-h r
\end{array}\right),
$$

and the corresponding equation is nothing but the RTL equation (2). Therefore, (11) is just the hierarchy of the RTL equations.

## 3. A Darboux transformation for the RTL equation

Recall that a gauge transformation of a spectral problem is called a Darboux transformation if it transforms the spectral problem into another spectral problem of the same type.

Starting from the spectral problem (3), we consider the following Darboux transformation,

$$
\begin{equation*}
\tilde{\phi}=T \phi \tag{13}
\end{equation*}
$$

which transforms (3) into the new spectral problem

$$
\begin{equation*}
E \tilde{\phi}=\tilde{U} \tilde{\phi}, \quad \tilde{U}=T^{(1)} U T^{-1} \tag{14}
\end{equation*}
$$

where $T=T(n)$ is determined later by requiring that $\tilde{U}$ has the same form as $U$, replacing $r, s$ with $\tilde{r}, \tilde{s}$ respectively.
$T$ can be determined as follows. Assume $T$ is of the form

$$
T=\left(\begin{array}{cc}
(1-v) \lambda+u & v  \tag{15}\\
(h \lambda-1) w & \lambda+x
\end{array}\right),
$$

where $u, v, w, x$ are four undetermined functions.
Let $\phi=\left(\phi_{1}, \phi_{2}\right)^{T}, \psi=\left(\psi_{1}, \psi_{2}\right)^{T}$ be two basic solutions of (3) and $\lambda_{1}, \lambda_{2}$ be two solutions of $\operatorname{det} T(\lambda)=0$. Thus when $\lambda=\lambda_{i}(i=1,2)$ two columns of the matrix
$T\left(\begin{array}{ll}\phi_{1} & \psi_{1} \\ \phi_{2} & \psi_{2}\end{array}\right)=\left(\begin{array}{cc}(1-v) \lambda \phi_{1}+u \phi_{1}+v \phi_{2} & (1-v) \lambda \psi_{1}+u \psi_{1}+v \psi_{2} \\ (h \lambda-1) w \phi_{1}+(\lambda+x) \phi_{2} & (h \lambda-1) w \psi_{1}+(\lambda+x) \psi_{2}\end{array}\right)$
are linearly dependent. Therefore, without loss of generality we may assume
$\left\{\begin{array}{l}(1-v) \lambda_{i} \phi_{1}\left(\lambda_{i}\right)+u \phi_{1}\left(\lambda_{i}\right)+v \phi_{2}\left(\lambda_{i}\right)=\gamma_{i}\left[(1-v) \lambda_{i} \psi_{1}\left(\lambda_{i}\right)+u \psi_{1}\left(\lambda_{i}\right)+v \psi_{2}\left(\lambda_{i}\right)\right], \\ \left(h \lambda_{i}-1\right) w \phi_{1}\left(\lambda_{i}\right)+\left(\lambda_{i}+x\right) \phi_{2}\left(\lambda_{i}\right)=\gamma_{i}\left[\left(h \lambda_{i}-1\right) w \psi_{1}\left(\lambda_{i}\right)+\left(\lambda_{i}+x\right) \psi_{2}\left(\lambda_{i}\right)\right],\end{array} \quad i=1,2\right.$,
where $\gamma_{1}, \gamma_{2}$ are nonzero constants. Obviously (17) is equivalent to

$$
\left\{\begin{array}{l}
(1-v) \lambda_{i}+u+v \chi_{i}=0,  \tag{18}\\
\left(h \lambda_{i}-1\right) w+\left(\lambda_{i}+x\right) \chi_{i}=0,
\end{array}\right.
$$

where

$$
\begin{equation*}
\chi_{i}=\frac{\phi_{2}\left(\lambda_{i}\right)-\gamma_{i} \psi_{2}\left(\lambda_{i}\right)}{\phi_{1}\left(\lambda_{i}\right)-\gamma_{i} \psi_{1}\left(\lambda_{i}\right)}, \quad i=1,2 . \tag{19}
\end{equation*}
$$

Solving (18) we obtain

$$
\left\{\begin{align*}
u & =\frac{\lambda_{1} \chi_{2}-\lambda_{2} \chi_{1}}{\chi_{1}-\chi_{2}-\lambda_{1}+\lambda_{2}}, & v & =\frac{\lambda_{2}-\lambda_{1}}{\chi_{1}-\chi_{2}-\lambda_{1}+\lambda_{2}},  \tag{20}\\
w & =\frac{\left(\lambda_{2}-\lambda_{1}\right) \chi_{1} \chi_{2}}{\chi_{2}\left(h \lambda_{1}-1\right)-\chi_{1}\left(h \lambda_{2}-1\right)}, & x & =\frac{\lambda_{1} \chi_{1}\left(h \lambda_{2}-1\right)-\lambda_{2} \chi_{2}\left(h \lambda_{1}-1\right)}{\chi_{2}\left(h \lambda_{1}-1\right)-\chi_{1}\left(h \lambda_{2}-1\right)} .
\end{align*}\right.
$$

Furthermore, from (3) and (19), we get

$$
\chi_{i}^{(1)}=\frac{\phi_{2}^{(1)}\left(\lambda_{i}\right)-\gamma_{i} \psi_{2}^{(1)}\left(\lambda_{i}\right)}{\phi_{1}^{(1)}\left(\lambda_{i}\right)-\gamma_{i} \psi_{1}^{(1)}\left(\lambda_{i}\right)}=\frac{\left(h \lambda_{i}-1\right) r+\left(\lambda_{i}+s\right) \chi_{i}}{\chi_{i}}, \quad i=1,2,
$$

which can be written as

$$
\begin{equation*}
\chi_{i}^{(1)}=\frac{\mu_{i}}{v_{i}}, \quad i=1,2, \tag{21}
\end{equation*}
$$

where

$$
\begin{equation*}
\mu_{i}=\left(h \lambda_{i}-1\right) r+\left(\lambda_{i}+s\right) \chi_{i}, \quad \nu_{i}=\chi_{i}, \quad i=1,2 . \tag{22}
\end{equation*}
$$

Through a direct calculation we obtain

$$
\begin{cases}u^{(1)}=\frac{\lambda_{1} \mu_{2} v_{1}-\lambda_{2} \mu_{1} \nu_{2}}{\mu_{1} v_{2}-\mu_{2} v_{1}-\left(\lambda_{1}-\lambda_{2}\right) v_{1} v_{2}}, & v^{(1)}=\frac{\left(\lambda_{2}-\lambda_{1}\right) v_{1} v_{2}}{\mu_{1} v_{2}-\mu_{2} v_{1}-\left(\lambda_{1}-\lambda_{2}\right) v_{1} v_{2}},  \tag{23}\\ w^{(1)}=\frac{\left(\lambda_{2}-\lambda_{1}\right) \mu_{1} \mu_{2}}{\mu_{2} v_{1}\left(h \lambda_{1}-1\right)-\mu_{1} v_{2}\left(h \lambda_{2}-1\right)}, & x^{(1)}=\frac{\lambda_{1} \mu_{1} v_{2}\left(h \lambda_{2}-1\right)-\lambda_{2} \mu_{2} v_{1}\left(h \lambda_{1}-1\right)}{\mu_{2} v_{1}\left(h \lambda_{1}-1\right)-\mu_{1} v_{2}\left(h \lambda_{2}-1\right)},\end{cases}
$$

and

$$
\begin{equation*}
w=v^{(1)} r, u^{(1)}+s v^{(1)}=x . \tag{24}
\end{equation*}
$$

For $T$ defined by (15) and (20), we have the following proposition.
Proposition 1. The matrix $\tilde{U}$ defined by $\tilde{U}=T^{(1)} U T^{-1}$ has the same form as $U$, in which the old potentials $r$ and s are mapped into $\tilde{r}$ and $\tilde{s}$ according to

$$
\begin{equation*}
\tilde{r}=\frac{r-w}{1-v}, \quad \tilde{s}=h w^{(1)}+x^{(1)}+s-x-\frac{r-w}{1-v} h v . \tag{25}
\end{equation*}
$$

Proof. Let us write

$$
T^{(1)} U T^{*}=\left(\begin{array}{ll}
f_{11}(\lambda, n) & f_{12}(\lambda, n) \\
f_{21}(\lambda, n) & f_{22}(\lambda, n)
\end{array}\right)
$$

where $T^{*}$ is the adjoint matrix of $T$ and satisfies $T^{-1}=T^{*} / \operatorname{det} T$.
Through a direct calculation we find that

$$
\begin{equation*}
f_{k l}\left(\lambda_{i}, n\right)=0, \quad k, l, i=1,2 . \tag{26}
\end{equation*}
$$

On the other hand, from (20) we know that
$\operatorname{det} T=((1-v) \lambda+u)(\lambda+x)-(h \lambda-1) v w=(1-v)\left(\lambda-\lambda_{1}\right)\left(\lambda-\lambda_{2}\right)$.
Therefore, we have

$$
\begin{equation*}
T^{(1)} U T^{*}=(\operatorname{det} T) Q \tag{28}
\end{equation*}
$$

with

$$
Q=\left(\begin{array}{cc}
Q_{11} & Q_{12} \\
Q_{21} \lambda+Q_{1} & Q_{22} \lambda+Q_{2}
\end{array}\right)
$$

where $Q_{1}, Q_{2}$ and $Q_{i j}(i, j=1,2)$ are undetermined functions.
Equation (28) can be written as

$$
\begin{equation*}
T^{(1)} U=Q T \tag{29}
\end{equation*}
$$

Substituting

$$
T^{(1)}=\left(\begin{array}{cc}
\left(1-v^{(1)}\right) \lambda+u^{(1)} & v^{(1)}  \tag{30}\\
(h \lambda-1) w^{(1)} & \lambda+x^{(1)}
\end{array}\right)
$$

into (29) we arrive at
$v^{(1)}(h \lambda-1) r=Q_{11}[(1-v \lambda)+u]+Q_{12}(h \lambda-1) w$,
$\left(1-v^{(1)}\right) \lambda+u^{(1)}+(\lambda+s) v^{(1)}=Q_{11} v+Q_{12}(\lambda+x)$,
$\left(\lambda+x^{(1)}\right)(h \lambda-1) r=\left(Q_{21} \lambda+Q_{1}\right)[(1-v) \lambda+u]+\left(Q_{22} \lambda+Q_{2}\right)(h \lambda-1) w$,
$(h \lambda-1) w^{(1)}+\left(\lambda+x^{(1)}\right)(\lambda+s)=\left(Q_{21} \lambda+Q_{1}\right) v+\left(Q_{22} \lambda+Q_{2}\right)(\lambda+x)$.
Comparing the coefficients of $\lambda^{j}(j=0,1,2)$ gives rise to

$$
\begin{array}{lr}
Q_{11}=0, & Q_{12}=1,
\end{array} \quad Q_{22}=1, \quad Q_{21}=h \frac{r-w}{1-v}, ~ \begin{array}{ll}
1-v \\
Q_{2}=h w^{(1)}+x^{(1)}+s-x-h \frac{r-w}{1-v} v=\tilde{s}, & Q_{1}=\frac{w-r}{1-v} .
\end{array}
$$

Therefore

$$
Q_{21} \lambda+Q_{1}=(h \lambda-1) \frac{r-w}{1-v}=(h \lambda-1) \tilde{r} .
$$

Hence we obtain

$$
Q=\left(\begin{array}{cc}
0 & 1 \\
(h \lambda-1) \tilde{r} & \lambda+\tilde{s}
\end{array}\right)=\tilde{U}
$$

The proof is completed.
Now let us consider the action of (13) to the spectral problem (12). Under the transformation (13), the spectral problem (11) is transformed to the following new spectral problem:

$$
\begin{equation*}
\tilde{\phi}_{t}=\tilde{V}^{[1]} \tilde{\phi}, \quad \tilde{V}^{[1]}=\left(T_{t}+T V^{[1]}\right) T^{-1} \tag{35}
\end{equation*}
$$

We claim that if $\phi=\left(\phi_{1}, \phi_{2}\right)^{T}, \psi=\left(\psi_{1}, \psi_{2}\right)^{T}$ are two basic solutions of both (3) and (12), then $\tilde{V}^{[1]}$ has the same form as $V^{[1]}$; that is, the following proposition holds true.

Proposition 2. Under transformation (13), the corresponding matrix $\tilde{V}^{[1]}$ is of the form

$$
\tilde{V}^{[1]}=\left(\begin{array}{cc}
-\frac{1}{2} \lambda-h \tilde{r}^{(-1)}-\tilde{s}^{(-1)} & 1 \\
(h \lambda-1) \tilde{r} & \frac{1}{2} \lambda-h \tilde{r}
\end{array}\right),
$$

where $\tilde{r}$ and $\tilde{s}$ are defined by (25).
Proof. If we write

$$
\left(T_{t}+T V^{[1]}\right) T^{*}=\left(\begin{array}{ll}
g_{11}(\lambda, n) & g_{12}(\lambda, n) \\
g_{21}(\lambda, n) & g_{22}(\lambda, n)
\end{array}\right)
$$

then through a straightforward and tedious calculation using the identity
$\chi_{i, t}=\left(\frac{\phi_{2}-\gamma_{i} \psi_{2}}{\phi_{1}-\gamma_{i} \psi_{1}}\right)_{t}=\left(h \lambda_{i}-1\right) r+\left(\lambda_{i}-h r+h r^{(-1)}+s^{(-1)}\right) \chi_{i}-\chi_{i}^{2}$,
we know that $g_{11}(\lambda, n), g_{12}(\lambda, n), g_{21}(\lambda, n), g_{22}(\lambda, n)$ are cubic polynomials of $\lambda$ and

$$
g_{k l}\left(\lambda_{i}, n\right)=0, \quad k, l, i=1,2
$$

Therefore we may assume that

$$
\left(T_{t}+T V^{[1]}\right) T^{*}=(\operatorname{det} T) R, \quad R=\left(\begin{array}{cc}
R_{11} \lambda+R_{1} & R_{12}  \tag{37}\\
R_{21} \lambda+R_{2} & R_{22} \lambda+R_{3}
\end{array}\right),
$$

where $R_{1}, R_{2}, R_{3}$ and $R_{i j}(i, j=1,2)$ are undetermined functions.

Equating the coefficients of $\lambda_{j}(j=0,1,2)$ on both sides of the equation

$$
T_{t}+T V^{[1]}=R T
$$

we get

$$
\begin{aligned}
R_{11} & =-\frac{1}{2}, \quad R_{12}=1, \quad R_{22}=\frac{1}{2}, \quad R_{21}=h \frac{r-w}{1-v}=h \tilde{r}, \\
R_{3} & =-h \frac{r-w}{1-v}=-h \tilde{r}, \quad R_{2}=-\frac{r-w}{1-v}=-\tilde{r}, \\
R_{1} & =u-h r^{(-1)}+h r^{(-1)} v-s^{(-1)}+s^{(-1)} v-h w-x \\
& =-h \tilde{r}^{(-1)}-\tilde{s}^{(-1)} .
\end{aligned}
$$

Hence

$$
R=\left(\begin{array}{cc}
-\frac{1}{2} \lambda-h \tilde{r}^{(-1)}-\tilde{s}^{(-1)} & 1 \\
(h \lambda-1) \tilde{r} & \frac{1}{2} \lambda-h \tilde{r}
\end{array}\right)=\tilde{V}^{[1]} .
$$

The proof is completed.
Combining propositions 1 and 2, we know that transformation (25) transforms $U, V^{[1]}$ to $\tilde{U}, \tilde{V}^{[1]}$ with the same form, respectively. The following theorem holds.

Theorem 1. Let

$$
\begin{equation*}
\tilde{r}=\frac{r-w}{1-v}, \quad \tilde{s}=h w^{(1)}+x^{(1)}+s-x-\frac{r-w}{1-v} h v . \tag{38}
\end{equation*}
$$

If $r, s$ solve (2), then so do $\tilde{r}, \tilde{s}$ and transformation $(\phi ; r, s) \rightarrow(\tilde{\phi} ; \tilde{r}, \tilde{s})$ is a Darboux transformation of (2).

## 4. An exact solution of the RTL equation

Now let us apply the Darboux transformation to construct an exact solution of the RTL equation. Choose a seed solution $r=1, s=0$ of the RTL equation (2). Then the spectral problems (3) and (12) read

$$
\phi^{(1)}=\left(\begin{array}{cc}
0 & 1  \tag{39}\\
h \lambda-1 & \lambda
\end{array}\right) \phi, \quad \phi_{t}=\left(\begin{array}{cc}
-\frac{1}{2} \lambda-h & 1 \\
h \lambda-1 & \frac{1}{2} \lambda-h
\end{array}\right) \phi
$$

which have two real basic solutions

$$
\phi=\mathrm{e}^{(-h+\zeta) t}\binom{\left(\frac{1}{2} \lambda+\zeta\right)^{n}}{\left(\frac{1}{2} \lambda+\zeta\right)^{n+1}}, \quad \psi=\mathrm{e}^{-(h+\zeta) t}\binom{\left(\frac{1}{2} \lambda-\zeta\right)^{n}}{\left(\frac{1}{2} \lambda-\zeta\right)^{n+1}},
$$

where

$$
\zeta=\sqrt{h \lambda-1+\frac{1}{4} \lambda^{2}}
$$

Thus we get

$$
\left\{\begin{array}{l}
\chi_{1}=\frac{\left(\frac{1}{2} \lambda_{1}+\zeta_{1}\right)^{n+1} \mathrm{e}^{2 \zeta_{1} t}-\gamma_{1}\left(\frac{1}{2} \lambda_{1}-\zeta_{1}\right)^{n+1}}{\left(\frac{1}{2} \lambda_{1}+\zeta_{1}\right)^{n} \mathrm{e}^{2 \zeta_{1} t}-\gamma_{1}\left(\frac{1}{2} \lambda_{1}-\zeta_{1}\right)^{n}}  \tag{40}\\
\chi_{2}=\frac{\left(\frac{1}{2} \lambda_{2}+\zeta_{2}\right)^{n+1} \mathrm{e}^{2 \zeta_{2} t}-\gamma_{2}\left(\frac{1}{2} \lambda_{2}-\zeta_{2}\right)^{n+1}}{\left(\frac{1}{2} \lambda_{2}+\zeta_{2}\right)^{n} \mathrm{e}^{2 \zeta_{2} t}-\gamma_{2}\left(\frac{1}{2} \lambda_{2}-\zeta_{2}\right)^{n}},
\end{array}\right.
$$

where $\lambda_{1}, \lambda_{2}$ are arbitrary nonzero constants and

$$
\zeta_{i}=\sqrt{h \lambda_{i}-1+\frac{1}{4} \lambda_{i}^{2}}, \quad i=1,2
$$

Finally, we obtain a solution of the RTL equation (2)

$$
\begin{aligned}
& \tilde{r}=1+\frac{\lambda_{2}-\lambda_{1}}{\chi_{1}-\chi_{2}}-\frac{1}{\rho_{2}} \chi_{1} \chi_{2}\left(\chi_{1}-\chi_{2}+\lambda_{2}-\lambda_{1}\right)\left(\lambda_{2}-\lambda_{1}\right), \\
& \tilde{s}=\frac{\lambda_{1}-\lambda_{2}}{\chi_{1}-\chi_{2}}+\frac{\delta_{1}}{\delta_{2}}-\frac{\rho_{1}}{\rho_{2}}
\end{aligned}
$$

where

$$
\begin{aligned}
& \delta_{1}=\lambda_{2}\left(h \lambda_{2}-1+\lambda_{2} \chi_{2}\right)\left(h^{2} \lambda_{1}-h-\chi_{1}\right)-\lambda_{1}\left(h \lambda_{1}-1+\lambda_{1} \chi_{1}\right)\left(h^{2} \lambda_{2}-h-\chi_{2}\right), \\
& \delta_{2}=\left(\chi_{1}-\chi_{2}\right)\left(h \lambda_{1}-1\right)\left(h \lambda_{2}-1\right)+\chi_{1} \chi_{2}\left(\lambda_{1}-\lambda_{2}\right), \\
& \rho_{1}=h\left(\lambda_{1} \chi_{2}-\lambda_{2} \chi_{1}\right)\left(\lambda_{2} \chi_{2}-\lambda_{1} \chi_{1}\right), \\
& \rho_{2}=h\left(\lambda_{1} \chi_{2}-\lambda_{2} \chi_{1}\right)\left(\chi_{1}-\chi_{2}\right)+\left(\chi_{1}-\chi_{2}\right)^{2} .
\end{aligned}
$$

## 5. Concluding remarks

In this paper, we have established a Darboux transformation for the RTL equation and obtained an explicit solution of the RTL equation. It is a pity that we have not known the interest in physics of the solution.

It is worth mentioning that starting from the spectral problem

$$
E \phi=\tilde{U} \phi, \quad \tilde{U}=\left(\begin{array}{cc}
0 & 1  \tag{41}\\
(\alpha \lambda+\beta) r & \lambda+s
\end{array}\right), \quad \phi=\binom{\phi_{1}}{\phi_{2}},
$$

Ma and Xu [12] have derived the hierarchy of the combined TL-RTL equations. In an exactly analogous way, we can construct the Darboux transformation and explicit solutions of the hierarchy of the combined TL-RTL equations. We will report this result elsewhere.

## Acknowledgments

This work has been supported by the National Science Foundation of China (no 10471120), the NCET-04-0518, the Special Fund of Major State Basic Research Project (G2000077301), the Special Grant of Excellent PhD Thesis of China (no 200013), the Excellent Young Teachers Program of MOEPRC, the Project-sponsored by SRF for ROCS, SEM, and the ' 333 project' of Jiangsu Province. The authors would like to thank the anonymous referees for their valuable comments and suggestions.

## References

[1] Ruijsenaars S N M 1990 Relativistic Toda systems Commun. Math. Phys. 133 217-47
[2] Bruschi M and Ragnisco O 1988 Recursion operator and Bäcklund transformations for the Ruijsenaars-Toda lattice Phys. Lett. A 129 21-5
[3] Bruschi M and Ragnisco O 1989 Lax representation and complete integrability for the periodic relativistic Toda lattice Phys. Lett. A 134 365-70
[4] Bruschi M and Ragnisco O 1989 The periodic relativisitic Toda lattice: direct and inverse problem Inverse Problems 5 389-405
[5] Oevel W, Fuchssteiner B and Zhang H W 1989 Mastersymmetries, angle variables and recursion operator of the relativistic Toda lattice J. Math. Phys. 30 2664-76
[6] Suris Y B 1990 Discrete-time generalized Toda lattices: complete integrability and relation with relativistic Toda lattice Phys. Lett. A 145 113-9
[7] Suris Y B 1993 On the bi-Hamiltonian structure of Toda and relativistic Toda lattice Phys. Lett. A 180 419-29
[8] Ohta Y, Matsukidaira J and Satsuma J 1993 Casorati determinant solution for the relativistic Toda equation J. Math. Phys. 34 5190-79
[9] Flaschka H 1974 The Toda lattice: I. Existence of integrals Phys. Rev. B 9 1924-5
[10] Flaschka H 1974 On the Toda lattice: II. Inverse scattering solution Prog. Theor. Phys. 51 703-16
[11] Suris Y B and Ragnisco O 1999 What is the relativistic Volterra lattice? Commun. Math. Phys. 200 445-85
[12] Ma W X and Xu X X 2004 A modified Toda spectral problem and its hierarchy of bi-Hamiltonian lattice equations J. Phys. A: Math. Gen. 37 1323-36

